BR7KEEAA TN\ RV o

WATERPROOF FLAT SWING HANDLES

AB-331~333

i
AL
&
#
-
#

N EL
avy

E{{r}ﬁ’l]‘.mr]rll

AB-331-1 AB-331-1

Yoshimola

AB-332-1 AB-333-1

¥ # e LEPUSHTLN—DHBEAY 2217 TY
Feature @ PUSHIR{EHVEL. FBAERDSAL—ATY,
o AAFAR (EANERIIIEHELABESZR
RLTLZZEW)

® The lever can be opened/closed by
pressing the push-button on the top.

® Smooth opening and closing of lever by
easy push-button operation.

@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

¥ H eEHRAR(ZDC)

&F i\‘ HENE 09 F A MO L%
"‘i\ )] & o FEMR-HE MR- HiHE-ZDMHh&EBOX
‘\ﬁ\ fi % ex—%&% H200
. Material ®Zinc alloy (ZDC)
4'——'?;/’\:1200 Specific Use @ Power/distribution boards, control

boards, various boxes
Remarks @ Key No./H200

ARG LLDHEBFTRARIIE EABFIED % [#EABEIEH |

DRHEHRHLET

m & fii & B H@®| A & L]
Product No. Remarks | Weight Lot Price
AB-331-1 FARES 400 40 ¥2,200
AB-332-1 FabEY 340 56 ¥2,100
AB-333-1 EAPES 244 80 ¥1,950

23



AWBAKLE

KL% C-45200 v MERATS $3.20Mb %1 £,
I AB-331-1 ¢-mwithkey & s MERFTRY 63201

CABOBARRIEBR LA LSV, WE TR AYEL
Dimension of mounting hole ‘
10 26,5 (22) 62 (C-45-2) avy
30 ik Sy% /1.5 " 30l 2.04.2 L/N— Revolving central
Waterproof packir% M5x10 | . El#xA{> \ position of handle
© ’ [ { o)
— N - [$) = [©) 1N ,,:I?—)
= 2 ATH b T
: A4 IomzEe 9 (&g — |
EEA/E0° | (23) - 7% ~ |
Lt Tun90® 7~ i Adjustment WW bl I R
/w M\washer o.MEX12 T
| SN U\ ikwg / c45-2 |
| i (23 | |
e Stopper plate ! o |
’@ /g e - EfFR W 0 ‘
o N ~- Installation plate ‘
) 27
| 60) H299]| 556 26 -~
SEARWEIZ. t10~2.3mm

Panel thickness applicable to install

I AB-332-1 @—mwith key

WEHFRTE
Dimension of mounting hole
10 265 (22)T 62 (C-45-2)
30 BhK/ Yo /11.5 2-M5x10 30 2.¢4.2 . .
Waterproof packing \ LN . Revolving central
Bz \ position of handle
-~ —J ~ - o')L 7 =] | To)
1 - ~— 5/ v ! g
)i - HiH @ — N e
I P : [ i
i - o S R ES(12.3) - !
_lrﬁlixﬁé %:90 Ads: | Adjustment 1o % o | |
- urn \ \\\ ' washer o e —
2 g / C-45-2 | |
(t23) AB-332 ‘
T '\Stopper plate PP ‘
Hoshlmato ‘
= W ' ‘
Installation plate 23 24
SEAREWREIZ. t10~2.3mm
Panel thickness applicable to install
| AB-333-1 @—mwith key \
WAL R~
Dimension of mounting hole
2-M4x10 (22) 62 (C-45-2)
) 10 26.5 30
30 BhAK/¥y%2/11.5 M5x10 2942 LA—EEr
Waterproof packing Revolving central
S 7 l 0 ) position of handle
- § 3 1 ooL o
i W‘"’? 4“ - i ]H il | @ o <t
T B © 5 S Lo
| _ . - SREEEE £ (12.3) =i
E#A 790 | Adjustment <%
i 1~ Tun 90 [\ washer
Fishimofo E@f L - 0 N
— T T I~ _AE. - I
(29.9) ‘6 ilfzy)s)ﬁ / C-45-2 23 uﬂ') %_7 !
(24) | 22 Stopper plate ‘
24
H-200&+x—
Key No. EAREREIL 10~1.8mm

Panel thickness applicable to install

24



